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CE 371.02 – Structural Analysis I  
Homework #5: Solutions 
         Total = 80 points 

 

  
 
Sol: 

30kN/m

48kN

12kN/m

5m 5m
12kN

4m

48

-12

x

x

96
90

60

M(kN.m)

V(kN)

 
 
 
 

Points 5 

Points 5 



 2/8

 
 
Sol: 
 
Using the FBDs of members ABC and BCD: 
 
 +ΣMA = 0;  CY (5) – BY (3) -15(1.5) = 0 
 
 +ΣMD = 0;  CY (2) – BY (4) +10(1.0) = 0 

    CY = 8.571kN  BY = 6.786kN  Ans (Points 3) 
     

    +   ΣFY = 0;  AY – 15 + 8.571 – 6.786 = 0 
    AY = 13.21kN     Ans (Point 1) 

 
    +   ΣFY = 0;  DY – 10 – 8.571 + 6.786 = 0 
    DY = 11.78kN     Ans (Point 1) 
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Sol: 
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+ΣMA = 0;  -15(2) – 10(4) + BY (6) = 0 
   BY = 11.667kN     Ans (Points 2) 
 
+   ΣFY = 0;  AY – 25 + 11.667 = 0 
   AY = 13.3kN     Ans (Point 1) 
 
+ΣMC = 0;  12(2) – BY (6) = 0 
   BY’ = 4kN     Ans (Point 1) 
 
+   ΣFY = 0;  4 – 12 +CY = 0 
   CY’ = 8kN     Ans (Point 1) 
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(25 pts)  
 
Sol: 
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Sol: 

CX

AX

AY

1.75k

1.05k2.10k

1.05k

30°

1.75k

3.5k

 
 
 
+ΣMA = 0; 
  
-3.5(7) -1.75(14) – 4.20 cos30° (7cos30°) -4.20sin30° (14 +3.5) +CX (21) = 0 
   CX = 5.133kN      (Point 1) 
 
    +   ΣFX = 0; 1.75 + 3.5 + 1.75 + 4.20 sin30° – 5.133 – AX = 0 

AX = 3.967kN      (Point 1) 
 

+   ΣFY = 0;  AY – 4.20cos30° = 0 
AY = 3.64kN     (Point 1) 
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